3. ffafen g w fam A

3. Consider the following pairs :

1. o & W ¥, Frsfafan T w
Hif :

1. With reference to Home Quards, consider
the following statements :

. WTa: WRTEN § waTaT 8 T 1. Home Guards are raised under the Regions often Reason for being

1. @ mé ® ¥m omé wfufmm s = " Home' Guards Aot and Mles of mentioned in news in news
wEn % fied % ain sy fea fafom ¥ am@ e T HI h , ;

T 2 1. 3 h R —— the Central Government. 1. North Kivu and Ituri : War between
ﬁqm‘flﬁ ) " . fig s gl ;‘ m'"““ 2. The role of the Home Gt}ardu is An:;:uzaand

2. 1 st sTafE gua =41 1= to serve as an_auxiliary force to rbaijan
g gfem = wEEE 74 tg:m T A 2. FER-FRETE rmeElF 8§ Ivea 4 the police in maintenance of 4 Megarno-Earsbakts 7 : insursency i
R 3. GwR it wge R SR % utemnel secusity. T . Lstoz‘;:ynbique

. 3. To prevent infiltration on the )

3. saigm /R R A e 0§ st i faaw inten':aliona| border/coastal areas, 3. Kherson and ~ : Dispute  between -
fow 3o o= & ¥ fm €m A the Border Wing Home Guards ‘ Zaporizhzhia  Israel and Lebanon
TTferg wyraTiaa 41 7 &) T & @ il g v gaftra &7 Battalions have been raised in

some Stales. How many of the above pairs are
9w & & femm = wh #7 Mg — How many of the above statements are carrectly matched?

fa) ¥aaTF (@) - correct? fa) Only onev~ *

(b) Fada 2 ) FaA fa) Only one *
oi 7R g (b) Only two

fc) " (@ whdn {b) Only twov~

(d) 1§ 7@ (c) All three® * fc) Al three

(d) ¥ T (d) None + (d) None

2. v & uni d, fefrfan 3@ @ fam

#ifag 2. With reference to India, consider the
4 u‘smﬁu sfufas * b K following pairs : 4. Consider the following statements :
% sndta s @ FE- : . The Act under Statement-I :

1. sEfuFa s A gfm @ TR T 3 s » SIS which it is covered Isracl has established diplomatic -y
A 78 7 g sfufags, 1923 IR 3 30 3w w14 TR wdu . Unauthorized wearing : The Official Secrets ¢ relations with some Arab States. :

wriya e & of police or military Act, 1923 —_—

2. &= gfom it @ N wE ' xiiforms Statement-1I :
= m ha -qa Si!ﬁl'ﬁ!m, 1872 F43-11 : . Knowingly misleading : The Indian Evi- ; The 'J‘\rab Pc.ace !mlmt.we. mediated by 1
R & 63 ¥ 4 or otherwise inter- dence Act, 1872 Saudi Arabia was signed by Israel
TR-IF T TR [A0E ‘s wifd ved’ @34 aa i qugya A fering with a police and Arab League.

3 officer or military
FA W FIQ AT 64 TR 3 A ofm & dre gwnaia gan officer when engaged Which one of the following is correct
AT =1 in their duties in respect of the above statements?

3. TF/MN A IPARE g (F) 9% Fad % an A, Fefafan 3 @ ¥-w . Celebratory  gunfire : The Arms (Amend- (a) Both Statement-1 and Statement-I
e friren e faaa #fufam, 2019 wF " ¥ which can endanger ment) Act, 2019 X are correct and Statement-II is the
= S the personal safety of correct explanation for Statement-I
T & forg 4w @ fa) F4E-1 3 F@-11 34 w8 § oaq others (b) Both Statement-I and Statement-I1

- FGA-11, F-1 F1 A AN : are correct and Statement-ll is
A ) 19w t How :lany t°1: él;e above pairs are not the correct explanation for
T A @ fad g wh gafoa #7 ) FaE-1 ¥ w@-1 A wh §oaw I e Statement-I
@ : v 11, T-1 6 W e 7} ::: g:g ::": e fc) Statement-l is correct but
b) FEA A Statement-Il is incorrect
(¢) ®fidm fc) Fa-19e & farg Fe-11 e & () Al three X (d) Statement-l1 is incorrect but
(d) %1 hTh (d) F43-1 e & famg -1 wh R 4 Heoo: ety Statement-{l fs correct
XDTG-F-GST/62C XDTG-F-GST/62C 3 [P.T.O.



5. U= gl ¥ wf A, fefafaa 3o w faw 7. fafafaa e w faan fifaw

ﬂ-?-

Hifi 5. C;n:ldcr: the roltliowing pairs with regard 7. Consider the following pairs :
g s awards :
1. A e T e T frod) ww # 3 form & & 1. Major {;:yan Chan: For th
A . : c t i
oA ™ TEER =9 ) Hafy % 2R T wad Wt srafeam ¢ Khel Ratna Award spectacular n;(::!d mggteign:fd?;lnj::;s c?:umft?
W 3R I WA outstanding  per-
fire : _ imir;iwnbyo a 1. Donbas : Syria
. TAEW ; Hifm ver
2. {4 qER fireht faemd 7o ShA- /‘l period of last four 2.  Kachin Ethiopia
e ) IvataE) & fig 2. wRA : shrdfem . Arjuna Award : 31::“ the lifetime 3y T
3. Rored g 3 e s @ 4 achievement by i morth Yemen
S SRy - s £ - 5 g a sportsperson
forgia ! : T . Dronacharya Award : To honour eminent i
THaES fawied w 3 coaches who h::rle Hom: mieny. Of° the whove' paice: s
i =) wfnfim fem &
. WA ' ) successfully trained correctly matched?
4. - Fpe a3 sporispersons  or
faenfyal am frera 37 A A f5ad gm v gifera &7 irams
WIHTE T = of) z;q :qmﬁ 4., gaal:ﬂu;ya lg:lel 3 : To recognize the (a) Only one o
otsahan Puraskar contribution made
. (@) ¥@ @ ki by sportspersons
m;: e gm wé gafen &7 o A even after their {b) Only two
(@) T retirement
) FEARA How many of the above irs are
:b)) Q ::‘ correctly matched? £ fc) Al three
o fa) Only one
(d) wh=m (c) wf 4R (b) Only two & ' {d) None
{c) Only three
6. 443 vaw Iifaffare, 2022 & W A, (@ {d) Al four
frafafaa wut w faam $ifig - 6. Consider the following statements in 8. In the recent i
; ; . years Chad, Guinea, Mali
1. U YEehl a0 W), ¥4 waew sifafEme ;‘E‘gﬂ of the 44th Chess Olympiad, and Sudan cnughm intmon;r‘
IR m'ﬁm ,mll g5z “' was: the. first:fime that Ehese attention folr which one of the following
2. THE sfaga Qi B AR m R 8. T ¥ aul #, =z, frh, weh sin HzA 3 Olympiad was held in India. reasons common to all of them?
al it # ¥ fim @ w9 @ sitdE W 4{.2. The o;!'_lcial mascot was named |- *
sifa = ERAmDE, i -
% g:;m a';?“;;:h i ¥ fm , W o 2w @ wEfia &7 3. "I'hcmtrophy o ﬂ:ie wilnni;:‘g t‘?m (a) l:::velry of rich deposits of rare X
, au dfaw in the open section is the Vera clements
4 . (@ FaPT— - 2 Menchik Cup.
ﬂi‘l{mﬁ}m" -lﬂ)a ey Mm% fa) F‘ R o A e s 6 @ "\ 4. The trophy for the winning team
, ¥iwea | in the women's section is the fb) Establishment of Chinese military R.
A fom v wh 87 ) ot W o Hamilton-Russell Cup. bases
::fl‘m - Tt H:ow many of t?c statements given
above are correct
b VR o (@) Only one {c) Southward expansion of Sahara -
il {c) weRaE 1 afhomiinge weR i roiily the» Desert
fc) Only three
(d) w sm e
(d) ¥ qGM-Ter2 (d) All four (d) Successful coups
XDTG-F-QST/62C XDTG-F-GST/62C
| P.T.O.



9. Frafafaa wift zavil w faam fifeg
1. JaG §44
2, AENUE FREH
3. @ HGR

Tgw § A fFR o fedw d e
T ) wew e 83 9 R b7
(a) ¥ TF

) FEaA

() ®f #m

(d) =r§ i T

10. G-20 ¥ @ #, f=fafas #a w faw
Hifar :

1. G-20 W 1 §@ ¥4 & wwn fam

gad sl ¥R &= F A oIm

sitira sfés i fadfa 50 = &
e L

2, fifia wdafis qfad 2t v 6
G-20 WufiEasi 3 8 @& R

IHE el & A P-w/wh Y/
fa) ¥aa 1

() Fa@2

() 1 ¥R 27E

d) 3@ 1mad2

XDTG-F-GST/62C

11. wird gfaem & w2 A, sdwas 4, v wwe
e, Ud |@d, 3 wig o g theme
farm nfafafu & 93 47

(a) FoafE® IeEH
(b) mfafis vma | aish Y 6 e
(c) 2t wwErgl A e )

(d) hefifis wa 3 @ w0 fein

12. Fefafaa gt w faam $ifm

e Forads fog o @ #

1. <FR : ﬁiﬂ‘ﬁlﬁﬁ!

2. W ;i iR

3. ¥ T AR -
I # A fFa gm v gafm §7

(a) FEATF

) FaaR

fc) ®fi 4R

(d) 1§ h 7

9. Consider the following heavy industries :

1. Fertilizer plants
2. Oil refineries

3. Steel plants

Green hydrogen is expected to play
a significant role in decarbonizing how
many of the above industries?

{a) Only one
{b) Only two
{c) All three y*

(d) None

10. Consider the following statements about

G-20 :

1. The G-20 group was originally
established as a platform for the
Finance Ministers and Central

7 Bank Governors to discuss the

international economic and
financial issues.

2. Digital public infrastructure is one

v of India's G-20 priorities.

Which of the statements given above
is/are correct?

{a) 1 only
(b) 2 only

vft) Beth 1 and 2

{d) Neither 1 nor 2

XDTG-F-GST/62C

s g

With reference to the Indian History,

Alexander Rea, A. H. Longhur,
Sewell, James Burgess and Walter Elliot

were associated with
{a) archaeological excavations ©

{b) establishment of English Press in
Colonial India .

(c) establishment of Churches in
Princely States ¥

(d) construction of railways in
Colonial India
- —— Al

12. Consider the following pairs :

Site Well known for
~
1. Besnagar : Shaivite cave shrine K.
Vidi\ea
2. Bhaja : Buddhist cave shrine

3. Sittanavasal : Jain cave shrine |—"

How many of the above pairs are
correctly matched?

(a) Only one v~
{b) Only two
{c) All three

(d) None

| P.T.O.



13. F=fafaa wedt w fasm $ifay
TG .
7 s W UPR pesa faaw % ww R
oA femmm
G-
1905 3, v fr3 mnh wReR gF fam
& |

THE wed & Wi 3, Befafar § & k.
w wh b7

(a) FGE-1 MR FwE-1 oE wh b oA
G311, 93-1 9 w0 =en b

() FGE-] W wwa-1 TE WA b oEw
w4311, TE3-1 ) wh = T

() F%a-1 wh ¥ famy w31 mem b
(d) wFuE-1 7ea b famg waE-n wh }

14, v 91 wa-Elm, 2002 ¥ w3EW, W &
R wx & T § fa=fafar e w faan
ifay
G-

N & TR w@e W W HEE WER
600 fae e » 400 fae Fe ¥

FG63-11 :

wa 1 gad | 3=k (pt) @ s3I

3:2%mi

dw v & w3, i § @ da

o "h b1

fa) #Ga-1 i @G- a4 wh B oAa
w311, TGA-] 9 whH = b

(b) FGE-1 M wGE-) a4 wh ¥ oa@
G311, TG3-1 1 wh = 3 8

(o) #Fa-1uh t famg waE-1 mem b
(d) F4a-17ea b fag waa-n wh b

XDTG-F-GST/62C

15. wfawrm feam & ot A, frafafaa w9 @ fasm
Lk
F93-] :

ThEl F dfm wifaafis g W) wahida

w2 ¥ fog wfnns fam vl 26 s =)
= Ry

TR0
26 Fa%t, 1949 9, wwa N w@luE w3
wra & ®faw w1 owen dan wa ¥ fa
zfe o WRe WETE A W § uw
e wfafa w31
% w@ & A, Bafafun 3 3 few
ww w1
fa) #4631 ¥ waE-1 W wh T oaw
FG3-11, TGE-1 9w = R
() wGE-1 s waE-n 26w § oaw
FG3-11, FA-1 0 WA wen 76
(c) FaA-1 wA ¢ fm Faa-11 e @
(d) w63~ mea ¥ fg waa-11 WA k

16. f=fafua =6 w faam fifag

w3~
fazade, 5= & sum @, = & suefl
e daw
TG
famde & wm faw @ g famamm @l
faug (ford) ¥
T agA & @i A, faefafaa 3 @ @R-w
vz wh §1
fa) #@E-1 s w@@-1 A4 wh §oaa
43-11, -1 6 wh wren b

(b) G- W waa-) dE wh B oaw
wad-11, waa-1 6 wh @ 76 @

fe) waA-] uh b famg wga-1 e b

(d) F4A-1 A ¥ farg w1 wh b

13. Consider the following statements :

Statement-]
7th August is declared as the National
Handloom Day.

Statement-Il :
It was in 1905 that the Swadeshi
Movement was launched on the same
day.

Which one of the following is correct
in respect of the above statements?

(a) Both Statement-1 and Statement-Il
o are correct and Statement-Il is the
correct explanation for Statement-|

(b) Both Statement-] and Statement-Il
are correct and Statement-Il is
not the correct explanation for
Statement-I

{c) Statement-1 is correct  but
Statement-1I is incorrect

{d) Statement-1 is incorrect but
Statement-Il is correct

14, Consider the following statements in
respect of the National Flag of India
according to the Flag Code of India,
2002 :

Statement-| :
One of the standard sizes of
the National Flag of India is
600 mm x 400 mm.

Statement-Il :
The ratio of the length to the height
(width) of the Flag shall be 3:2.

Which one of the following is correct
in respect of the above statements?

/(a) Both Statement-l and Statement-l11

are correct and Statement-ll is the

correct explanation for Statement-1

(b) Both Statement-l and Statement-Il

are correct and Statement-1l is

not the correct explanation for
Statement-|

fc) Statement-l is  correct  but
Statement-ll is incorrect

(d) Statement-l1 is incorrect but
Statement-1l is correct

XDTG-F-GST/62C
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15. Consider the following statements in
respect of the Constitution Day :

Statement-1 :
The Constitution Day is celebrated on
26th November every year to promote
constitutional values among citizens.

Statement-II :
On 26th November, 1949, the
Constituent Assembly of India set up
a Drafing Committee under the
Chairmanship of Dr. B. R. Ambedkar
to prepare a Draft Constitution of
India.

Which one of the following is correct
in respect of the above statements?

fa) Both Statement-l and Statement-Il
are correct and Statement-Il is the
correct explanation for Statement-|

{b) Both Statement-l and Statement-Il
are correct and Statement-Il is
not the correct explanation for
Statement-|

A Statement-1 is correct but

Statement-Il is incorrect

{d) Statement-l is incorrect but
Statement-1l is correct

16. Consider the following statements :
Statement-1 :

"

A

Switzerland is _one of the leading v

exporters of gold 1n terms of value.
Statement-I1 :
Switzerland has the second largest
gold reserves in the world.
Which one of the following is correct
in respect of the above statements?

Both Statement-1 and Statement-ll
are correct and Statement-ll is the
correct explanation for Statement-1

(b) Both Statement-l and Statement-ll

?

are correct and Statement-l1 is‘(

not the correct explanation for
Statement-|

c) Statement-l is  correct  but
Statement-1l is incorrect

() Statement-l is incorrect
Statement-ll is correct

| P.T.O.
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17. F=fafaa w531 w faan $ifax .
F41-] :

T € &, FF T IWIF (o TWe o)
dn qdm ow@m (fo o) I ‘mmm ¥

drnfr siteg’ Wy R
wF4q-11 :
"5 Te aRiE s qidm wwow T
A § % 3 % wom A s v adin
ifes TeEsa ®) w3 fam d an =
bk e 3
IEF w4 F A A, F=fafaa § 8 @R,
ww wh 7

() F@-1 3 FgE-1 T @A B oaq
F4A-11, F93-1 91 wh = @

(b) FG@E-1 i @1 FE wh R oAad
Fq3-11, F4A-1 9 7 =mEn T4 &

(c) Fa3-1wh } fa=g wg3-11 7w @

(d) waA-1 e & g -1 wh R

18, faafafua wad w faan fig
Fq3- :
wgdl % Afew fawia A v @ faeia
32% %1
#493-11 :
i & arda 33T i anfad @ owma §
wrdta gu ozl @afad 3 wia @) ‘-
wfta Wane  (NewrA-fias  gifa)’
ayaA1 w1 @™ 2
Tifw wad & 4 A, faefafus 4 @ da-wm
o wh RY
(a) W3-l sht wwa-n ad wh ¥ aa
waA-11, waq-1 ) yh v b
() waa-1 bt waa-y a4 wh .t oaw
wad-11, w43-1 €1 wh vm 40 ¥
fc) waa-1 wh ¥ faq waa-1n men @
(d) W=l nea ¥ o wad-1 wh

XDTG-F-G5T/62C

19. frafafaa wad w faam fifan .
T ¥w oW feam w@ wgfE weshm
(Rfafed Tz o b))’ O wfu ,
1. qirde w9 % 3 % w9 uR ¥ W
wifta = §

2. i@ w9 % 2 % fre ared anaihe
wE ghwsd 1 e § alan gwm
iG]

3. g F & R ored shahffarat
%) a9 § alen gw @ @

e A A fem T wh §7

(a) ¥T9TF

b)) ¥F=ad

fc) B

(d) Fr§h

20. f=fafan FaA w fan $ifi

1. owa @ #, ugw g F owh 3
ymig|m vam F fag anh 7% 9 veeh
wfam, ‘g, =mafta oin fafe =W
¥ foau afuw wfa | ehaa Fil® T
i, stdeh T Ve e (she #e
o) | FvATé ¥

B ﬁlolﬂﬂ@nﬂmﬁﬁa’mm
wfaagard o o WIE W T AR
1

3. e e wHo 3 Iyl sl wfvagmait
& sivfa wmafew waw @ el w9 W@
favafoa wivil % ferg o wrd @l ¥

v # A faad waa wh 87
fa) V@ uw

b) Waa @

fc) Wi diq

(d) g o5

17. Consider the following statements :

Statement-] ;
Recently, the United States of America
v (USA) and the European Union (EU)
have launched the ‘Trade and
Technology Council’,

Statement-II :
The USA and the EU claim that
through this they are trying to bn
K_lechnologica.l progress and physical
productivity under their control. |

Which one of the following is correct

in respect of the above statements?

fa) Both Statement-I and Statement-I11
arc correct and Statement-1I is the
correct explanation for Statement-1

{b) Both Statement-I and Statement-Il
are correct and Statement-ll is
not the correct explanation for
Statement-1

g (c) Statement-l is  correct  but
Statement-Il is incorrect
{d) Statement-1 is incorrect but

Statement-Il is correct

18. Consider the following statements :
—

Statement-] :
India accounts for@ of global

" export of goods.
Statement-11 :
Many local

companies and

foreign _companies operating in India

have taken advantage of India's
‘Production-linked Incentive’ scheme.
v B

Which one of the following is correct
in respect of the above statements?

{a) Both Statement-I and Statement-1I
are correct and Statement-Il is the
correct explanation for Statement-1

(b) Both Statement-I and Statement-I1
are correct and Statement-1l is
not the correct explanation for
Statement-[

fc) Statement-I is correct  but
Stalement-II is incorrect
Ad) Statement-1 s incorrect  but

Statement-ll is correct

- XDTQ-F-GST/62C
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19, Consider the following statements :

The ‘Ftability and Growth Pact’ of the
European Union is a treaty that

1. limits the levels of the budgetary
deficit of the countries of the
European Union

2. makes the countries of the
European Union to share their
infrastructure facilities

3. enables the countries of the
European Union to share their
technologies

How many of the above statements are
correct?

fa) Only one

(b) Only two

fc) Al threev” *
(d) None

20. Consider the following statements :

1. Recently, all countries of the
United Nations have adopted the
first-ever compact for intermational
migration, the ‘Global Compact
for Safe, Orderly and Regular
Migration (GCM)".

2. The objectives and commitments
stated in the GCM are binding on
the UN member countries.

3. The GCM addresses internal
migration or internally displaced
people also in its objectives and
commitments.

How many of the above statements are
correct?

{a) Only onev*

(b) Only two

(c) All three

{d) None

| P.T.O.

)+
1%
(q .



21, wia & ®wad A, fafafaa wa@ w faan
#ifau ;
1. ‘ww, wq dw nwum s faw
(e WHo TWRe fo Ho) wiufiam,
2006" % ¥um, ‘faa% waw ol wimEh
ifm s s A 2s w3 vl F
i ¥, A wam wm
2., @ i qum 3o W frg o wd
A% w1 wfw fw % andim otk &)

IV waA A A R-w/8 wh R
fa) Fad 1

(b) Fad2

c) 1 3 27E

(@) a@1alnad2

22, ¥4, 3% fefaea grait & b 4, frafafaa
wud W faam $ifag .
) £ lomummmorﬂemoqtﬁaﬂa
wieht |1 wam fam faa fefeem gm
B TR FE1 6@ 21
2. w fefem gn wE sm vmfa
ufau, ¥4 5 wF =@ ¥ vm-ely, &
wa faafa 9w wwd B
I FeA A § A/ wh R
(a) F=d1
) #aa 2
fc) 13 2zA
(d) 3@ 13fadé2
23. fm § w0l &, v ‘9’ ol ffe = @7
(a) ¥En-WaET wEEE A, we-wmg @
wfmfa %1 w@hed s a=3 ) wfem
(b) feh diwifed wauw €1, sifas s
tfasa & @ wger @R @, fEwm
FraH1f

fc) WE TER 1 Sqr4ria wfam, s oal
Irqa wa ¢ el i wfaen wva T ¢

(d) T WEAwE 5E, W QU R2iE aEn d
M T giEdd & ufa e w=iw @
fawadl %1 wam R

XDTG-F-GST/62C
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24. fasfafaa wu&) v fasm i

3.

wWa-HeEd W [Gen-ded I
(e wao fle)) wriFm wea: wndly
w2 %% g fadfm w9 @ dfual ®) e
O R WAy fEm o an

et wme wmo fo A, wyr F vl wew
I T & fog Iafre @a ¥, oI
F1§ e wew A R

erftn umfm 3% s srggfan afnfer
&% o o Wle w wHd 2§

o § A fred wem WA B

(a)
(b)
(c)
(d)

EEER ]
FA A
ol =
1§ ol 7

25, frefafaa wed v famm ifg

FA-1 :
W@ ) AEEAE T R faE o
Hifir faius, 3ds ol s J@e &
WY Ja: AR oae ) W WA Hea
Eaaikdl

FE-11
NI & W@ 3EvTE 13 #6 § fadiga
| F Naha, T WafEE w9 A @R
T gz & o e )

I FE & a3, Pefafas § @ S9-w
o w27

(a)

{b)

fe)
(d)

Fgi-1 3 wwR-11 2 wd € aw
FA-11, F43-1 ) wél =rE ¢
Fqi-] SR FgE-11 IE oA O§ oaw
FgA-11, F9a-1 1 WA = 7é ¢
Fi-1 0l ® Fmg FeA-11 e @
F43-1 e § g -1 wéh R

21, Consider the following statements with
reference to India :

1.

According to the ‘Micro, Small and
Medium Enterprises Development

«.. (MSMED) Act, 2006, the ‘medium

2.
.

enterpriscs’ __ are  those  wath
investments in plant and
machinery between ¥ 15 crore and
€ 25 crore,

All bank loans to the Micro, Small

and Medium Enterprises qualify
under the priority sector.

Which of the statements given above
is/are correct?

fa)
)
fc)
s (d)

22. With reference to

1 only

2 only

Both 1 and 2
Neither 1 nor 2

Central _ Ba

digital currencies, consider the following

TStatements :
1. It is possible to make payments
v inadigital currency without using
US dollar or SWIFT system.
2. A digital currency _
< distributed with a ° condition

programmed into it such as a time-
frame for spending it.

Which of the statements given above
is/are correct?

)
{b)

d)

1 only

2 only

Both 1 and 2
Neither 1 nor 2

23. In the context of finance, the term ‘beta’

refers to belg ‘\'ﬂd.l'ﬁ
;4-:1} the process of simultaneous Buying

fb)

and selling of an asset f{rom
different platforms

an investment strategy of a
portfolio manager to balance fisk
versus reward

O{C) a type of systemic  risk ) that
arises where perfect hedging is not
possible

% (d) a numeric value that measures the
fluctuations of a stock to changes
in the overall stock market

XDTG-F-GST/62C
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24, Consider the following statements :

1. The Self-Help Group (SHG)
programme was originally initiated ?
by the _State Bank _of Indi "
by providing microcredit to the
financially deprived.

2. In an SHG, all members of a group —
take responsibility for a loan that
an individual member takes.

3. The _Regional Rural Banks  ,and X

Scheduled ~ Commercial Banks —."" -
“support SHGS.

How many of the above statements are
correct?

fa) Only one *
(b) Only twoiL—
fe) All three A~
(d) None 7~

25. Consider the following statements :

Statement-] :
India’s public sector health care system
largely focuses on curative care with v
limited preventive, promotive and
rehabilitative care.

Statement-Il :
Under India’s decentralized approach
to health care delivery, the States are
primarily responsible for organizing
health services.

Which one of the following is correct in
respect of the above statements?

fa) Both Statement-l and Statement-Il
are correct and Statement-I1l is the
correct explanation for Statement-1

{b) Both Statement-l and Statement-II
are correct and Statement-1l is ¥

not the correct explanation for
Statement-1

fc) Statement-l is correct but
Statement-Il is incorrect

(d) Statement-1 is incorrect but

Statement-ll is correct

| P.T.O.



26. fi=fafas wa v faan $ifi
FYR-]
g ugen 4 ‘faw 9= faam ol 2022
F AR, wia vead faw ¥ o W@ ¥
- A afus wa w1 Freadn s
FR-11
NRAd F HY3 TSR A e aren faw
A 18% FHREET F Y1 wd o w=ma
HEEFNH F @ =1 F oy vfewd faw %
W v F -l 4 iuw w8 W
frerio 3 1 5w R
Tow FuA 4 8, fisfafga 3 4 9R-m
T |é R
(a) #F43-1 3in F@E-1 I wA R oA
FA-11, F93-1 F FA =37 ¢
(b) FE-1 ¥ FGE-1 E WA O oAw
w11, F4A-1 $1 7 =ren 76 b
(c) Fua-1wd ¢ fog Faa-11 e &
(d) F43-] mea @ g FaE-n whH R

27. f=fafas & o famm 6
1. WA & #faur § 99En, ¥ wEn #@
e UF zfama @ 5 @ o= w1 st
fasmdl & w=m)
2. wA w1 gfauE E w5, Fas e
™ =W @ fah =fs 9 fafus s
WA T A G2 TTH =4 2

3. umFar fEmm sfufEm, 2002 %
wgan, yfem F wma sfgs A
wehgEfa ®1 ma & w9 8 wge T4 fEn
w1 HFA

I # A e wa@ wh 1

fa) %@ T

(b) FAAQ

fc) ®hdR

(d) @r§ 7

XDTG-F-GST/62C 14

28. fsfafaa & A aY3-wm s 0, zo@) @ Jewee
v um w2 | 7@ W R aw e # fod

feat & wifa i ghle % forg warard & w7
fa) 3miren

(b) wvem G

(c) wwTER

(d) e

IR F e W ufee w@ F fm
i@ 0 &1

2. W fafavam waws wiufadl &, 3@
gfiFn % i, WkE g@wE aw
vda ¥ fm wm = a A fE
wiea, wga i @m weafm fifm
F % o, wempl vwd @1

e v § A -m/R wh Y

fa) ¥ad 1

(b) Faa 2

(c) 13273

(d) am1swada

26. Consider the [ollowing statements :

Statement-| :
According to the United Nations'
‘World Water Development Report,
2022', India extracts more than
a quarter of the world's groundwater
withdrawal each year.

Statement-Il :

India needs to extract more than
a quarter of the world’s groundwater
each year to satisfy the drinking water
and sanitation needs of almost 18%
of world's population living in its
territory.

Which one of the following is correct in
respect of the above statements?

s(a) Both Statement-1 and Statement-I1
are correct and Statement-II is the
correct explanation for Statement-I

() Both Statement-] and Statement-II
are correct and Statement-Il is
not the correct explanation for
Statement-I

{c) Statement-I is correct but
Statement-II is incorrect

(d) Statement-1 is incorrect but
Statement-lI is correct

27. Consider the following statements :

1. According to the Constitution of

India, the Central Government has
v a duty to protect States from
Internal disturbances.

2. _The Constitution_of India exempts
the States from providing legal
counsel to a person being held for
preventive detention.

3. According to the Prevention of
Terrorism Act, 2002, confession of

Ve the accused before the police
cannot be used as evidence.

How many of the above statements are
correct?

fa) Only one
{b) Only two

Ac) Al three «
{d) None

XDTG-F-GST/62C
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28. Which one of the following countries has
been suffering from decades of civil strife
and food shortages and was in news
in the recent past for its very severe
famine?

{a) Angola
(b) Costa Rica
c) Ecuador

(d) Somalia.

29. Consider the following statements :

1. In India, the Biodiversity
Management Committees are key vl
to the realization of the objectives
of the Nagoya Protocol.

2. The Biodiversity _Management
Committees have important ¢

functions in determining access

and benefit sharing, including the
power to(levy collection fees) on
the access of biological resources
within its jurisdiction.

Which of the statements given above
is/are correct?

a) 1 only
(b) 2 only
() Both 1 and 2 vV~

(d) Neither 1 nor 2

| P.T.O.



30. WA & wgefa % fatea & a4, fAafafua

mmﬁ?ﬂm:

1. w9 % 2E 9 A f@h o v m oo A
faum-swisfi 8§ IR o m s
fratasza § miva frg @ & fag o
a7E §)

2. faf=r faum-an @2 faadt sfus ot
t,mm%mmomap%aﬁz
1 9[ ofi Ia @ sfus g k)

3. W W9 F YT THe Tdo Uo & @12 #1
A, ¥ & T4 o To Qo F aR F
[ A afus B

4, gﬁﬁkml{qomuQe%?ﬁZﬂ
H, WA T29 F Ted® (Ho Tedo To
F 92 ¥ 9 A wfuw R, FiE @
wm A gan § e 3 3a SwEe
1 frats @10 ) 3@ wen @ s
wfus R

IEF & @ fFa waa wh §7
(a) ¥ TF
(b) FEAA

(c) %@ dR

{d) @ =m

XDTG-F-GST/62C
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31. Fsfafaa 3 w faan Hifaw

e
4% fafes
w1
wmafam
faganfra
Liee)

o LR

I & @ frm ¥ A drd g D dm E
W w7

(a) Fa@ @
(b) =@
(c) Faam
(d) Fa@ 9

32. yeh & avpiea ¥ v 4, Pt T §

# wR-T F wh R

(a) YEVETE W WW TH 9 qhaN # e
W, gl WO A A g A g
= 1 w10 T R

(b) e fad gdam & amm 2-famd wm
!

fc) ¥aww w fred amEea & W
VAT 3N 983, ¥4 @ w6

(d) e aci W fafem 6 fagggada
T % ZEEEE g & N g

30. Consider the following statements in
respect of election to the President of
-~

India :

1. The members nominated to either
House of the Parliament or the

K Legislative Assemblies of States are
also eligible to be included in the
Electoral College.

2. Higher the number of elective
Assembly seats, higher is the

¥ ., value of vote of each MLA of that

State.

3. The value of vote of each MLA
of Madhya Pradesh is greater than
that of Kerala.

4. The value of vote of each MLA
of Puducherry is higher than that
of Arunachal Pradesh because the
ratio of total population to total
number of elective seats in
Puducherry is greater as compared
to Arunachal Pradesh.

How many of the above statements are
correct?

(a) Only one
{b) Only two v~ *
{c) Only three

{d) Al four Y& -

XDTG-F-GST/62C
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31, Consider the following countries :
1. Bulgara v
2. Czech Republic
3. Hungary
4, latia %

5. Lithuania * -
6. Romania
How many of the above-mentioned

countries share a land border with
Ukraine?

fa) Only two e
(b) Only three
{c) Only four
(d) Only five

32. With reference to the Earth’s atmosphere,
which one of the following statements is
correct?

fa) The total amount of insolation
received at the equator is roughly
about 10 times of that received at
the poles.

{b) Infrared rays constitute roughly W .
two-thirds of insolation.

(c) Infrared waves are largely absorbe_d v
by water vapour that s
concentrated n the lower

atmosphere,

(d) Infrared waves are a part of visible %
spectrum of electromagnetic waves
of solar radiation.
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33. F=fafas o+ w fism ffa
-]
JorEfzadm aufaEt A g3 dns 7w § Wy
T R
FG3-10
TwEfzadia IviEAl 3= am g A
= 3@ 3§ faomm g %6 vl W@
wquzs B R
I9% wE % Wt 7, fsfafaa | 4 dR-a
= W b7
(a) F@-1 ¥ F@E-N 3 wA ¢ oa@
FA-11, F93-1 F1 7 =31 B

) FE-1 ¥ F@E-N E wA R oaw
FUR-11, FGI-1 ¥ FE =T T b

fc) Fua-1 W@ ¢ famg wa3-11 mom
(d) @1t g esm-nwat

34, Fafafma we@ w faan @ifag
F43-] :
= @ & wewm s wEwEd ¥ ode
A faveta 3ha W 9 s wfew @
]
TR
wa A fafme 3=, yyu § fafme 3o 6
s wfuw ad b
gF w44 § a0 8, Fefafua § @ dR-w
wF W b7
(a) F@3-1 M F@-1 T owH §oaw
FA-11, F43-1 9 h = b
(b) F@-1 s T@-n T oA oA
FaA-11, F@A-1 1 9 = 79 b
(c) Faa-1 wh & famg waa-11 7em &
(d) F4F-1mea ¢ 5 waa-1 wh b

XDTG-F-GST/62C

35, fafafaa wua s fam Hifag

1 yEm-dd (dedors) d s Ao A g
p aul sfwfafaa ) e &)

2. P ACN A, FEAM-3EAT FW W OYER )
frm & 3-8 Fw A R, wafs
s avh # Fu am wan A fam ¥
TR SR A =@ R

I A § A wR-w /A R/

(@) ¥a@ 1

() a2

(c) 13 2e

(d) 3@ 12

36. Y@ A Fgen-anufa arfm wfr a6 F w2
3, frefafas wed w faan fif .

1. T A fh 3 9z 9@ = 3wEm Tl
Tl

2. T A w A wo9-Fw I fe W
wifia 78 31 ,

3. 3 A = i el w3 98 R

I A A frad #aa wh 87
fa) F9A TF

b) F@ 2

fc) ®fidR

{d) #1§ i 7

37. ‘dwifam vefd’ =1 wi-wf fafafaa § @
50 & & v § 3@ gm ¥7
fa) W=l @ €9 9 faww] A & wer A
frafm w0
(b) ™ A (F Wieg) | W@ weh
(8 wdifaa) @am
(c) 9 faefiaofin wenfesl =1 3 =m

(d) ¥ s & IowEEEE w T @
AT F) IEA T

TH—

4% 34‘9

33. Consider the following statements :

Statement-l :
*J’lle soil in tropical rain forests is rich
in nutrients.
Statement-1l :
The high temperature and moisture
of lropical rain forests cause
dead organic matter in the soil to
decompose quickly.

Which one of the following is correct in
respect of the above statements?

{a) DBoth Statement-I and Statement-II
are correct and Statement-Il is the
correct explanation for Statement-1

(b) Bath Statement-1 and Statement-1I
are correct and Statement-Il is
not the correct explanation for
Statement-1

(c) Statement-l is correct  but
Statement-Il is incorrect

\/[d) Statement-1 is  incorrect but
Statement-1I is correct

Land T
. sumou.m)-’ v"""". v
34. Consider the following statements : \ LV
Lk =2
Statement-1 : N ap 5o
The temperature contrast between
\/ continents and oceans is greater
during summer than in winter,
Statement-II :

The specific heat of water is more than
v' that of land surface.

Which one of the following is correct in
respect of the above statements?

vl

Both Statement-l and Statement-Il
are correct and Statement-ll is the
correct explanation for Statement-1

(b) Both Statement-1 and Statement-I1
are correct and Statement-1l is
not the correct explanation for
Statement-1

{c) Statement-l is correct  but
Statement-ll is incorrect

(d) Statement-l is incorrect but
Statement-ll is correct

XDTG-F-GST/62C
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35. Consider the following statements :

1. In a seismograph., P waves are
recorded carlier than S waves.

2. In P waves, the individual particles
vibrate to and fro in the direction
of wave propagation whereas in
S waves, the particles vibrate up
and down at nght angles to the
direction of wave propagation.

Which of the statements given above
is/are correct?

fa) 1 only
(b) 2 only
) Both 1 and 2
(d) Neither 1 nor 2
36. With reference to coal-based thermal

power plants in India, consider the
following statements :

1. None of them uses scawater.

2. None of them is set up in
water-stressed distnet.

3. None of them is privately owned.
—— - —

How many of the above statements are

correct?

(a) Only one

(b) Only two

fc) Al three

{d) None »—

37. ‘Wolbachia method"® is sometimes talked
about with reference to which one of
the following?

\,{df Controlling the wiral
spread by mosquitoes

discases

(b) Converting crop residues into
packing matenal

{e) Producing biodegradable plastics

{d) Producing biochar from thermo-
chemical conversion of biomass

| P.T.O.
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3s. fr=fafaa nfafafugi w faem $ifa

1. 93 W w ardw i gl dwe e
Gt & from

2. 4 frerR w9 artan s

3. fafim warl wm ffw wrda et
1 wfimem T IR FERAFA wa F ¥
1 sitere i aF # s W T

wofw nfafafudi 8 R faedl, wda shoem

ain fafadfivas (Reem) % fom wm: fmm
i == & ard wrdh @7

() 99 TF
(b) FAA
(c) i
(d) = 7@

39, ‘Ufum wafefies’ ficfafma § A fem @

feafa =1 wad w1 Fffe =2 27

(a) o wafam & =g & die @o o wimwl |

W TF 90 A w1

b) Tl wafam A el wfadi ) sgafis
A FEE

(c) e wivdl & fim wfazdd a7 & fag
agarfea gfedl &1 wam w0

(d) vftae s wa fwml & o=y @ g
wiazd w73 % fag s &5 8 g8
L)

40. ‘wAATETR Ao We Yo' Frefafan # @ fam

@ qa & waim fEm e 87

(o) Wimma @ fafim wfest % &=
fawmyts gyl #1 e w4

®) ‘Bn s’ ® fafaw wEeiEw
Fa%) & wyafa 3 & fo 3ém =

) TOR-FM F wEl F wH WER @
wafida w=m=

(d) T wmfe A fuameg siwy wham =
sthadl €1 wvEFRm 1 WTFER T
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20

41, 5 W I & wau A, Frafafas e g

faam i

1. W U % e fm R o i
w6 Qe )

2. wWH 3w i miad wfeensi § wy
a1 Faara iy gy A el Ak

3, wa a| wm miad ofeensd & fg
@ §2 § wa F) 9 3 )

4. T I A T ) WY aF F D
= W) dF wreE gl wE FE
wmiEE R

I § A fF wm vl ¥

(a) ¥ T

(b) ¥=aA

(c) Faa R

(d) =1

42, T g% wma wefa ¥ sl A @ @

Tl & e 3§, fafafas F4 v faan

HIfae ;

1. WA 9H AW F (N-ww) a9,
frmd st wiad st & fag

i Hfew g wam 9 ad 20
2, Wi AIG R
F fo sifim e s 21
3. T == ol feed ) fwita srEfi
T F-5fs A wm R

4. WA wAfm, dErefEtd el
wgsiifem w foim wm @ F Ww
wits afemt & whfm F h-dmm
=it 1 3 R frem wfdE B

7% 3 A fr s wh #7

fa) ¥39

) Fad

fc) Faadm

(d) ®fi =m

w__l_-'-

38. Consider the following activities :

1. Spreading finely ground basalt rock
{\ on farmlands extensively

2. Increasing the alkalinity of oceans

- by adding lime

3, Capturing carbon dioxide released
by various industries and pumping
it into abandoned subterrancan
mines in the form of carbonated
waters

How many of the above activities are
often considered and discussed _for
carbon capture and sequestration?

{a) Only one
(b) Only two «
fc) Al three
{d) None

39. ‘Acrial me cnnmi:gf)‘bcst refers to

=which ofic of the lollowing situations?

Collecting DNA, samples from air

Sl _
in a habitat at one go

(b) Understanding the genetic makeup
of avian species of a habitat =

(¢) Using air-borne dcvices to, collect
blood samples from moving
animals

(d) Sending drones_ to inaccessible
areas to collect plant and animal
samples from land surfaces and
water bodies

40. ‘Microsatellite DNA' is used in the case

of which one of the following?

fa) Studying the
relationships
species of fauna

(b) Stimulating ‘stem cells' to
transform into diverse functional
tissues

Promoting clonal propagation ,of
horticultural plants

Assessing the efficacy of drugs by
conducting series of drug trials in
a population

Pl oo dromanccs-3

evolutionary
among various

2l

o (d)
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41, Consider the following statements in

relation to Janani

vl.
2.

y3.

uraksha Yojana :

It is a safe motherhood intervention
of the State Health Departments.

Its objective is to reduce maternal v
and nconatal mortality among poor
pregnant women.

It aims to promote institutional
delivery among poor pregnant
women,

Its objective includes providing

public health facilities to sick
infants up to onek.ycar of age. - .

Sem=fe!

How many of the statements given
above are correct?

fa)
~Ab)
fc)
(d)

Only one
Only two ¢
Only three
All four -)

42. Consider the following statements in

the context of interventions being
undertaken under Anaemia Mukt
Bharat Strategy : .

1.

It provides prophylactic calciuﬁg—

supplementation for__ pre-school |
children, adolescents and pregnant
women.

It runs a campaign for delayed
cord clamping at the _time of child-
birth.

It provides for periodic deworming 93
to children and adolescents. '
It addresses non-nutritional causes

of anaemia in endemic pockets V¥~
with special focus on malarna,
hemoglobinopathies and fluorosis.

How many of the statements given
above are correct?

{a)
(b)
(c)
(d)

Only one
Ol'lly two e
Only three
All four

| PT.O.
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43, fFi=faias #ud w faam difag 4s. aonfig tFamen yorel # Y9 fr

43. Consider the following statements : 45. With reference to the role of biofilters

1. siEnEne i wee § v i T
yagal % fafmim 3 wda agsd =
TR F R

1. Biofilters provide waste treatment
: e, A9 399N ¥EE FE g . v’
2. WA A TE AW EE W WA 5@ 2. 4 B wen s § 2. Carbon fibres once used cannot be by removing uneaten fish feed.
farg = w1 i NPT ‘:T!EE # wza 2 ¥ oA R 2. Biofilters convert gmmoni& present
. 3. % fiees, wa A v % fau s Which of the statements given above 'i:l_[lﬂwaste 5 Durae:
g vt 32 W-w/R wh b ¥ w9 & wiewia # a7n §) is/are correct? 3. Biofilters increase_phosphorus as
(a) ¥ 1 4 nutrient for fish in water.
a 3‘1‘§i§ fa) 1 only —_—
A3 e wm v ¥ How many of the statements given
(b) ¥4 2 {a) Fad e b) 2 only above are correct?
(¢ 1322 (b) FaE A () Both 1 and 2 {a) Only one
(d) Aad13dmad2 (o whdm (d) Neither 1 nor 2 (b) Only two ~
(@) =7 . _ . {c) All three
44. Frofafaa frmsi w faan fifw 44, Consider the following actions : ) Noae

1. W /e w1, faad gEan e gia
& v &, v s

(amfeezr) 0 offvw & wf ¥, Fefafee
wadl W faem fifong

1. ¥a P, fan om o owe o ow

46, Frfafaa gt o faem $ifim
siafu # oz v

1. Carbon fibres are used in the

/ manufacture of components used
in automobiles and aircrafts.

1. Detection of car crash/collision
v/~  which results in the deployment of

in Recirculating Aquaculture System,
consider the following statements :

airbags almost instantaneously 46. Consider the following pairs :
2. dWR seEE wom@ W froved @, . siafes & @ 3t 2. Detection of accidental free fall of e Description
fomd od 3w g = @ W }, W PP o a laptop towards the ground which P
A T?St\;:t!lim:’if“mediam turning off 1. Cepheids : Giant clouds of dust and
2 M 2. Hrerfend A ad] w9 A ol the rve Eas in space
3. WHWA % gea w1, fawd dge sin i A
Azeiq Wz ¥ 99 woE (m) bS m"ﬁ“ 3. Detection of the tilt of the smart- 2. Nebulac : Stars w.h‘c.h brighten and
N 3. qEm il e RrE e k] phone which results in the rotation dim periodically
W o el i @ 4 of display between portrait and 3. Pulsars : Neutron stars that are
A 3 a6 landscape mode 3%0&(0\10" £ formed when massive stars
fra GrH € S run out of fuel and collapse
W -i A o S sl A, o A Fya & s In how many of the above actions is the _
(Ywemizy) F ward 9 s : function of accelerometer required? How many of the above pairs are
m T‘ﬂ 79 fr vl m ¥ correctly matched?
(a) ¥ T {a) Only one
3 (a) Fad T .,(61 Only one
b) Fad
- b) F=EaA oAb} Only two (b) Only two
(¢} ®hdm () whdm {c) Al three (c) Al three
(d) i & i 7 (d) @ o 7 (d) None (d) None
XDTG-F-GST/62C 22 XDTG-F-GST/62C 23
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47. | IEE faa ? 8 5 o & wm s T 49. W ¥y & W A, Fefefan wodl W fam 47. Which one of the following countries has 49. Consider the following statements
wTiAETA () W #2 e« its own Satellite Navigation System? regarding mercury pollution :
1. E:;T'ﬁ nfafafy faw § W 1. Gold mining activity is a source Vs
(a) m | (a) Australia of mercury pollution in the world.
2 when- ; f i
N "ﬂ:%m (wha 2. Coal-based thermal power plants v
() * .a:* im =" I (b) Canada cause mercury pollution.
. 3. TEH M ® F I G-
T b ¥ 3. There is no _known safe level of 7
(c) lsrael exposure to mercury.
v, “SAs i & 2 frm) A T 4
How many of the above statements are
@ (@ ¥ {d) Japano correct?
(b) FaE R {a) Only one
48, Consider the following statements : (b) Only two L~
48. F=fafaa w99 w fasn ey : (c) wfidm
1. Ballistic missiles are jet-propelled | {c) All three
1. s g wE @ (d) w18 vt 7 :}!‘ subsonic  speeds _throughout e
fafes  fewea \ their flights, while cruise_missiles (d) None
wawafs® 91 W wun-Afea ad §, -
a ; - are rocket-Powc'red only in the
wafs FA frwma F9a 3R & smh= _ ) initial phase of Mght.
= | Taz-uariaa g 8 50. ¥ wEeR F M A, fafafes wyt w = 50. With reference to green hydrogen,
faram i g xemy 2 - % consider the following statements :
: . Agni- is a medium-range .
2. #f-v wum 70 A wafE A faga 1. W wahE 76 ¥ fog o § w0 § @Y supersonic cruise missile, while 1. It can be used directly as a fuel .~
Y, w5 FEm Im  hn-wf T fm o w21 _ X .BrahMos is a solid-fuelled for internal combustion.
sAmeEra afafes mama 2. @ wFfhs hw & W e am @ intercontinental ballistic missile. 2. It can be blended with patural
ofts w7 & fom dm & w9 A wawa and used as fuel for heat or power "
5 1 wFA tl generation.
& & & e Which of the statements given above
ITF T A A DA-E/8 GA /R 3. T T aeR F fog mgea e e i GO 3. It can be used in the hydrogen o~ .
er) & vemme fem = awa B fuel cell to run vehicles.
(a) #AaA 1 IE A § e w7 vl #7 How many of the above statements are
fa) 1 only correct?
. fa) ¥aa uw
(b) Faa 2 o (b) 2 only (a) Only one
(b) FEAR
> X Only tw:
(e 1324 — {e) Both 1 and 2 I IS
fc) ® . fe) Al three y—
@ 3@ dah2 (d) 1§ ot 7 Ad) Neither 1 nor 2 (d) None
XDTG-F-GST/62C 24 XDTG-F-GST/62C 25
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51. UraEed, N mewiiae) & 3R o vm d
2 & ¥ 1§ wyg g, Pefafaa 3 @ fae
T 83§ sEfem 9

fa) v
(b) TiUR
fc) fem

(d) W

52, WA wA ¥ w2 8, fsfafas w6 w faan
Hifag

1. & A EEew e g dEes

2. TE AEAR W e w1 RS
a

3. @@ TW0 ¥ Wy ©F EFe9-HGd @
W w1 Al

g7 & A 5l wm wh #7

(a) @A TE

(b) F@a

(c) ™idR

(d) w7

53, YR gfem wra F el A, s, [yen ol
it form v & g a7

fa) TEYHE M

(b) =T

fc) < 3 e fwin & ¥z
(d A & A=

XDTG-F-GST/62C
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54, fa=fafaa § & ¥9-w g, @w Fla@sd 3

aurafifa ‘aefavaa’ €) (v )9 w2 w1 k7

(a) T g wieen sl B fgw
FA

) TeEEn d fagd W, e saRa g

famdl w faam-famd 701 ¥, T @
(c) femi@l zm -4 f B ==
v fafedl wan wygsdt =2 s
(d) = § vufim T #:| AW 3T W=

ST Fega F

55. Fefafaa sl w fEmn fifg .
1. waEa
2. TEgAT
3. F&dm
4, T .
T § A & omesat 3 sm oW s m
el v 5 A wenfya fau? "
(a) ¥ T
) F=ad
fc) Faa @R
(d) e 3 7@

56. WHR v 3faem F e A, fefafaa g
a1 faam Hifew

wifgfeas A TR
1. &z : faegm
2. FofR-vEEr TR it
3, fife-ve :wn'-jq
4, HfgawEmm o wwEE gR
I gwl A | fra wh gafem &7
fa) @A
b) ¥@ A
fc) #@adr
(d) W =R

51. In which one of the following regions was
Dhanyakataka, which flourished as
a prominent Buddhist centre under
the Mahasanghikas, located?
(a) Andhra
{b) Gandhara
‘/(i:) Kalinga
{d) Magadha

52. With reference to ancient India, consider
the following statements :

*l. The concept of Stupa is Buddhist
in origin.

‘/2. Stupa was generally a repository
of relics.

3. Stupa was a votive and

commemorative structure in

Buddhist tradition.

How many of the statements given
above are correct?

{a) Only one
v (b) Only two
fc) Al three ™
(d) None “\,
53. With reference to ancient South India,

Korkai, Poompuhar and Muchiri were
well known as

(a) capital cities

vTb)

(c) centres of iron-and-steel making

ports

(d) shrines of Jain Tirthankaras

XDTG-F-GST/62C
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gy sé.
s2 -

g3
‘;:’ Which one _of the following explains
the @ of “Vattakirutal' as
mentioned In Sangam pocms?
fa) Kings employing women ,
yguards
(b) Learned persons assembling in
royal courts to discuss religious
and philosophical matters
{e) Young girls keeping watch over
agncultu
bizds ani -
(d) A king defeated in a battle
committing nitual suicide by
starving himself to death

Consider the following dynasties :

1. Hoysala v~
2. Gahadavala
3. Kakatiya v
4. Yadava v

How many of the above dynastics

established their kingdoms in_early

eighth century AD?.
fa) Only one

(b) Only two p— *
fc) Only three

(d) None V..

56. With reference to ancient Indian History,
consider the following pairs :

Literary work Author
1. Dewichandragupta : Bilhana ~x .
2. Hammira-Mahakavya : Nayachandra Sun
3. Milinda-panha : Naganuna w
4. Niivakyamnta : Somadeva Suni v~

How many of the above pairs are
correctly matched?

(a) Only one %
{b) Only two v
{c) Only three

(d) Al four x_

|P.T.O.
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67. ‘s Waa Wy o v haa 0 wen 26 Y,
wfew farensdl, warfea vl s w= 3w
wgfas awpd A o B, fed w=m wfde
wyza Aifaa =f wraa"”

T wad wrlia v ¥ ffafoa & @ fim
us ufds sy & ue g faem W)
ufafifan wam %7

fa) g wn

(b) ¥3 %M

(c) *awtm

(d) “vma gm

68. faagam wyra % @R A fam o T 3
amm 74w uw fama @t fB2fda fam o
T4 A Tavr I w7 W fEEdm @
A st g w fawia fan?
(a) Zamm wam
) wgarda
(c) 7 fawg
(d) faenm

69. WETediE A & @A @ fam vw e A fog
® yhmferdt & gt w fran?
fa) ¥ATHZ TE
fb) wER T
(c) wEg TR
(d) gz T
. 60, fyafafus & @ fam @ tw o @ma & nad

WA W) WA & A v % v 8§ wivfea
fom m w?

fa) vAfn ta

) fazn tfem a

fe) 1793 @1k taz
(cd) 1833 1wk qaz
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61. vy ¥1 #, ‘fafu @ wag ¥’ w1 gy

w0 R

(a) %uff® =m w1 fagm
) fafu gm wafia wzfa
(c) fafua 4 froaw wgfs
(d) fafu % wma wm

2. fafafua wa@ o fisn ifiag

G-
v 8, ¥ da-wmma ¥ fag, 6 W
g™ U e e fa o fafiami @
Ezoikdl

-1 :

via 3, 98 w1 fem da sifufias, 1894
T famn wman R, fod 3@ = famn e ww
| Wi ' F B |

T wad & A A, Prefafa § 2 WA

TF W R

(a) @1 3R wgE-1 I wH Eoaw
FG3-11, F3-1 9 wé =e ¢

(b) FEE-1 @ w@E-1 2 wd §oaw
wgA-11, F43-1 91 gf saren 74 R

(c) Faa-1wh ¥ fig Fua-11 e ¥

(d) #F@E-1 e b faeg Fea-1 wh b

63. f=fafm & & ¥-w @ w4 fah 3m &

‘Hfaur' ¥ qem WA # wE w9 R

wfafafaa = &7

(a) e waEwE fafidl & fwiw & st w
faufo % )

(b) ﬂmﬁﬂmw&iaﬂtm%wﬁ
FF T B

fc) we wam £ wfEd w2 wfoafaa s
Himrag w1 B

(d) e wmifaw =@, wmfas wga i
wfa g 41 wfasa wwa B

< SN
&\

57. *Souls are not only the property of
animal and plant life, but also of rocks,
running water and many other natural
objects not looked on as living by other
religious sects.”

The above statement reflects one of
the core beliefs of which one of the
following rehgious sects of ancient
India?

{a) Buddhism
¥ Jainism
{c) Shaivism
(d) Vaishnavism

§8. Who among the following rulers of
Vijayanagara Empire constructed a
large dam across Tungabhadra River
and a canal-cum-aqueduct several

kilometres long from the river to the
capital city?

A} Devaraya |
) Mallikarjuna -
c) Vira Vijaya
(d) Virupaksha
@ Whe among the following rulers of

medieval Gujarat surrendered Diu to
Portuguese?

(a) Ahmad Shah
(b) Mahmud Begarha®
{c) Bahadur Shah
(d) Muhammad Shah
60. By which one of the following Acts
was the Governor General of Bengal

designated as the Governor General
of India?

Wa) The Regulating Act 197 3. buv S byt

{b) The PitU's India Act \}B4 -
{c) The Charter Act of 1793
1) The Charter Act of 1833

1868 - ey
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61. In essence, what does Due Process of
Law’ mean?

(a) The principle of natural justice v~
() The procedure established by law
fc) Fair application of law

{d) Equality before law

’. Cons:der the following statements CN-"‘"‘I \‘-‘q?

Statement-] :
In India, prisons are managed

State Governments | with their @
an regulations for e
y-to-day administration of prisons.

Statement-II :

In India, prisons age governed by the

ept the subject of prisons in the

control of Provincial Governments.
e ——————————

Which one of the following is correct in
respect of the above statements?

~fa) Both Statement-l and Statement-Il
are correct and Statement-Il is the
correct explanation for Statement-1

(b) Both Statement-| and Statement-I1
are correct and Statement-ll is
not the correct explanation for
Statement-l

(c) Statement-1 is correct but
Statement-Il is incorrect

(d) Statement-l is incorrect but
Statement-Il is correct

63. Which one of the following statements
best reflects the Chlef purpose of the
‘Constitution” of a country?

{a) It determines the objective for the
making of necessary laws.

(b) It enables the creation of political
offices and a government,

AT 1t defines and limits the powers of
government.

(d) 1t secures socal justice, social
equality and social security.

|P.T.0.



64. wia i, fi=fafua § A fam w@laum v &
fo wms w0 @ v w=m o k@ o
sfusml 9 =nfaw =oen # wfing #3 &

67. vitdg wez A fam favgs sl wa fadws 3
wod A, Prafafaa sl o fam D
1. ¥ & @ fam falms #) 1w g

feory sifufyafam fam mny
fa) WEen wA
(b) 423 @GR
fc) 443l @muz
(d) seal wowR
65. wia ¥ fi=fafua wes/fFm w fEn
#ifa
1. g fog = smm
2 mmufm:wrﬁn
3. wym fafu smim
4, wgm I faar fEmw smEm
0w § A fan wifawfys fem §7
(a) ¥a@ &
(b) Fa@A
(¢) Faa R
(d) ®fi s

N{?iﬁfwﬁvmm&!?
fa) ¥ TF

() ¥AR

fc) whi dm

(d) wif ¥ 7h

XDTG-F-GST/62C

Yadt ¥, @ wsw wn 3@ fAdaw W
wifia W sl = owEd R

2. W& % @ uq fatas ) T own i
vl R, @ Tem wn oIW fRvmw W
wafua W swhiFa FE W owEd, @
¥am gt = awd ¥

3. @% v 3 T W & 19 e
M W, v fadas ¥ o 9 wge dow
@ @, frg fm fades & fau ¥
AF WEAYEF B )

I A | 5 wa wh 87

fa) FaA TE

(b) F=FAA

fc) whdm

(d) w8 h .

68, Fafafaa 4t w faan Hifag :
& W afRk ¥z wen i W R

wriga’ wfugfaa # & ¢, @
1. U9 % A 34919 a3 T8 @ &
T wigrl a7 v @

2. @ fam A seefa 96 A

3 ®@ @ D e
e A e 7 ) s A b

4. T@ i % dril 9 e g et f
sgafa ol @

9w 8§ A fFa w43 v #1

‘(a) FaE T

fb) Faa

fc) FaadR

(d) Bl um

30

e

64, In India, which one of the following
Constitutional Amendments was widely
believed to be enacled to overcome

the judicial _interpretations _of the

64-
6S
e

&P -

67. With reference to Fmance Bill and Money

Fundamental Rights?
“faj 1st Amendment
~(b) 42nd Amendment

fc) 44th Amendment

(d) 86th Amendment

65. Consider the following organizations/
bodies in India :

/1. The National Commission for
Backward Classes

%2. The National Human Rights
Commission [0} d

3. The National Law Commission

7‘-4' The National Consumer Duputes
Redressal Commission (x
How many of the above are
constitutional bodies?
tfa) Only one
{b) Only two

fc) Only three ¥,
fdj All fouryZ .

66. Consider the following statements :

1. If the election of the President
of India is declared wvoid by
the Supreme Court of India, all
acts done by him/her in the
performance of duties of his/her
office of President before the date
of decision become invalid.
2. Election for the post of the
President of India can be postponed

K

on the ground that some Legislative
Assemblies have been dissolved
and elections are yet to take place.
3. When a Bill is presented to the
President of India, the Constitution
K prescribes time limits within which
he/she has to declare his/her
assent.
How many of the above statements are
correct?
fa) Only one
{b) Only two
fc) Al three
w1d) None

XDTG-F-GST/62C

Bill in the Indian in Parliament, consider
the following statements :

1. When the Lok Sabha lransmitn
Finance Bill to the Rajya Sabha,
it can amend or reject the Bill.

2. When the Lok Sabha transmits
Money Bill to the Rajya Sabha,
it cannot amend or reject the Bill,
it can only make recommendations.

3. In the case of disagreement
between the Lok Sabha and the
Rajya Sabha, there is no joint
sitting for Money Bill, but a joint
sitting becomes necessary for
Finance Bill.

\

How many of the above statements are
correct?

fa) Only one

{b) Only two

{c) All three v~
{d) None

68. Consider the following statements :

31

Once the Central Government notifies
an arca as a ‘Community Reserve’

1. the Chief Wildlife Warden of the ]
State becomes the governing
authonity of such forest

2. hunting is not allowed in such area ¥~

3. people of such area are allowed to +
collect non-umber forest produce

4. people of such area are allm\'ed? ¥
traditional agncultural practices .

How many of the above statements are
correct?

(a)
()
{c) Only three
(d) All four

Only one
Only two < |

| P.T.O.



69. W # ‘wigiaa a3’ F "l A, f=fafaa

A
1.

 faam fifem,

fireh T % i, o ¥ A sl
o F ¥ A sfugan g ¥ @ smn
F o @ w0

spgfaa &3 F w9 8 393 Ol vl 1 d
pruceac R e RES Rk ke Rcl
@1 wat® A nla w1 wge )

W T ¥ i @ i b
3T & srgfaa 4 ¥ v ¥ fa
3 ¥fra T s A afE R 2

T § A fad w7

(a)
(b)
fc)
(d)

A
Fam A
Bl d
1§ oft 7

70. fa=fafaa w@ w faam afa .
FYR-]
NTA & IIaR OEed A S wfaa faE

g

R fFmtFEywm s sfam &

W2 16(4) F BUR @718 M smem Hifaal
WA F 2 F T @ F fag sgsae
335 Tm Hifga g
FG3-11 :

VA F wiaud #1 wIe0z 335 ‘WA )
2y’ 92 =1 wfoariea = R

TgF FaE § a7, fefafaa 4 4 daa
= wA BT

fa) F@-1 ¥n F@-11 TH WA B oAa

F43-]1, 93~ 41 wh T b

(b) ®@E-1 ¥ F@-1 TE WA R oa@

fc)

TG, F45-1 1 1A =En 94 ¢
wq3-1 7 ¥ famg waa-11 e d

(d) F@-1 A ¢ faq wd@@E-1 wh t

XDTG-F-GST/62C
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71. frafafaa s o faam $ifa

HEA-1
snutftad s 3w = (InviTs) #§ owm
(feaffaz) & g == A 3m3, | =%
vl A faafa ) 9l R, 7@ 2 wm g,
farg T i R

FEA-11
‘fada wiwfrdl #1 wfafferm sl g
7 wfnifa fea = wada sifufam, 2002 %
3R InvITs ) T & ¥9 & wr=7a W §)

Iogw = & a8, Fefafa 3 4 S9-m

T wh ¥

fa) F&-1 M F@-11 IE WA ¢ Aw
FA-11, FU3-1 9w = ¢

) F@-1 W FuE-11 2 owh ¢ oaw
FA-11, F93-1 ) 7 =T T4 R

fc) Faa-1 WA ¥ g Faa-11 7o ®

(d) FEA-17eA ¢ fFg FaE-11 wd R

72. Fafafas w93 w fan fifsg
Fg3-1 :
Tz faumd & 9 ¥ v F fam w& 1§,

R igmtad
Cill )

FE3-11
HEIR W FZA 4% A & fR oo om

g g Inim fwd w, hizw e F
aE A, wfeEn w0 F) wmd {)

I w=wd & @A, frafafa 3 @ Sww

Re: R 7

fa) FHE-1 ¥ FgE-11 A whH ¥ oaw
FE-11, F43-1 91 7 Are §

(b) FE-1 M FgE-1 AH wh §oaw
F43-11, F43-1 4 whl =rEn 76 @

fc) #4310 ¢ fag F43-11 e ¥

(d) F4q3-] ea ¢ g Faa-1 wh k.

69. With reference to ‘Scheduled Areas’
in India, consider the following
statements :

v

Within a State, the notification of
an area as Scheduled Area takes
place through an Order of the
President.

The largest administrative unit
forming the Scheduled Area is the
District and the lowest is the
cluster of villages in the Block.
The Chief Ministers of the
concerned States are required to
submit annual reports to the
Union Home Ministry on the
administration of Scheduled Arcas
in the States.

How many of the above statements are
correct?

(a)
(b)
{c)
(dj

Only one
Only two +»~
All three
None

70. Consider the following statements :
Statement-1 :
The Supreme Court of India has
held in some judgements that the

reservation

policies made under

Q Article 16(4) of the Constitution of
India would be limited by Article 3

for

maintenance of _efficiency of

administration,
Statement-1I :
Article 335 of the Constitution of
India defines the term ‘efficiency of
administration’. T
Which one of the following is correct in
respect of the above statements?

(a)

(b}

~Ac)
(d}

Both Statement-1 and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I
Both Statement-I and Statement-Il
are correct and Statement-ll is
not the correct explanation for
Statement-I

Statement-I is  correct  but
Statement-Il is incorrect
Statement-l is incorrect but

Statement-ll is correct

XDTG-F-GST/62C
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71. Consider the following statements :
Statement-] :

Interest income_ from the deposits
in Infrastructure Investment Trusts

(InvITs) distributed to_their investors is
exempted from tax, but the dividend is
taxabl 5
Statement-II :
InviTs are recognized as borrowe ‘
under the ‘Secuntization aﬁﬁ&%
struction of Financial Assets and
Enforcement of Security Interest Act,
2002
Which one of the following is correct in
respect of the above statements?
fa) Both Statement-l and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I
{b) Both Statement-I and Statement-Il
are correct and Statement-Il is
not the correct explanation for
Statement-1
{c) Statement-1 is  correct
Statement-Il is incorrect
Statement-l is incorrect
Statement-II is correct
72. Consider the following statements :
Statement-1 :
In the post-pandemic recent past,
many Central Banks worldwide had
carried out interest rate hikes.

Statement-II :
Central Banks generally assume that
they have the ability to counteract the
rising consumer prices via monetary
policy means,

Which one of the following is correct in

respect of the above statements?

»Aa) Both Statement-1 and Statement-Il
are correct and Statement-ll is the
correct explanation for Statement-1

(b) Both Statement-l and Statement-Il
are correct and Statement-Il is
not the correct explanation for
Statement-I|

but

o 1d) but

fc) Statement-I is correct  but
Statement-ll is incorrect
(d) Statement-1 is incorrect but

Statement-1l is correct

| P.T.O.



73. Fafaias se5 o fa=wn $ifew

B0 o

T wvE @ fF 3R 9m, Seay wiadd
3 fvza =1 = w94 =9s 'nE 8 )
Fga-11 :

FT43 ATATL BAEIGAL ¥ WEAZ H9 8 U F1
TEaTaia w2 24 B

IF F44 F 90 4, fFeiEtEa § 8 SR
wF WA R

(a) -1 N ¥ TE WA R oaw

FGA-11, FG-] 91 wA =Em b

(b) weE-1 3R wwE-1 3 wA R @
. wEA-]l, FE3-1 91w = 94 R
fc) F@-1 WA ? famg wm-11 e R

(d) F@-1mem R g e wal

74 vida R I A s aafm @
nfafaie | ‘TwEm (Riegae)’ ® @ wm
F ¥4 8 5 9@ R
fa) ‘gEn AEAR FEE w1 HIER
(b) Tz v yrR wewies .
fc) %= wEn i U= wEA & fog ==
@ U3 T
(d) -4% fadm wam § w5 = falm
75. fF=fafaa s w fasm difag :
wE) 92 aran
¥wraiy z= amEn (w5 56 wE2)
a9 AR (Z2A0 faa wEz)
w=i& aman
43 am 8, 795 | A fea3 miza #7
(a) ¥TATE
(b) ¥4 A
() F=adR
(d) w=m

-l i
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76. Fafafaa 8 3 MR- 0, T 79 93 G

#) EFG ¥ HaWA 994 87

fa) T2 % FW NN T A I wEn F
fawanfi |l =, T o9 AdEm Wi
T, fawdl 3 wffes oft @ 3@ =)
M | 7l B, [T w7

() & &3 F sew dima 7o 9 9w
wE A safain =g 7wt
} weFrer ol wfa = €

(¢ T 3 & A% dmm 7% frewm
Tt Pmfem Frema 5wy ofa = s
iR W ffa fiem =) &
safu & fqg 2 @ &, s fom ==
Fmfea frm o9 <1 wF wewa v =
TR F R

(d) = ==t il dm ¥ 3o den 4 T
FUF F WO, qEAE wEEE Hn
w1 fafafeat wem = R, ofs 9
5 # fafmm wfFn o o
IaTA # foan 3w ww@ F Fh-ga =
IEA F

77. F=fafaa w43 © faan $ifew . o

1. WA §ER F @ fa@ [T (qreea
cfafafi#n) | % 4o % fo =Fam wada
FI5a g F=A B

2. AR A dfaisA s s A
0 = R

3. VM ¥ I8 WAdE am s faa ®
¥ | @ e R F o w8
=ma #

I7gw A A frm R wh 87

(a) ¥=AwF

b)) FEA R

fc) wfidm

(d) i o 7

a3 . 7

76. Which one of the following best descnibes
the concept of ‘Small Farmer Large
Field? =

{a) Resettlement of a large number
of people, uprooted from their
countries due to war, by gning
them a large cultivable land which

73. Consider the following statements :

Statement-I :
Carbon markets are likely to be one of
¢~ the most widespread tools in the fight
against climate change.
Statement-II :
Carbon markets transfer resources "
from the private sector to the State. they cultivate collectively and share
2 - the produce
Which one of the following is correct in
respect of the above statements? (b) Many marginal farmers in an area
{a) Both Statement-I and Statement-I1 -+  organize themselves into groupe
are correct and Statement-II is the and synchronize and harmonize
correct explanation for Statement-I sclected agricultural operations

(b) Both Statement-1 and Statement-Il (c) Many marginal farmers in an arca
are correct and Statement-1l is together make a contract with
not the correct explanation for a corporate body and surrender
Statement-I their land to the corporate body

. for a fixed term for which the

e} Statement-l is correct but
Sttementl is incoret e

(d) Statement-l is incorrect but

Statement-Il is correct (d) A company extends loans, technical
knowledge and matenal inputs to
a number of small farmers in

74. Which one of the following activities of
the Reserve Bank of India is considered an area so that they produce the
to be part of ‘sterilization? agricultural commodity required
@) Conducting ‘Open Market ¥~ by the company for its

Operations’ manufacturing process and
{b) Oversight of settlement and commercial production
payment systems

c) Debt and cash management for the
Central and State Governments

(d) Regulating the functions of Non- X
banking Financial Institutions *
75. Consider the following markets :
1. Government Bond Market v\~
2. Call Money Market “A. 3.
3. Treasury Bill Market .
4. Stock Market

77. Consider the following statements :

1. The Government of India provides
Mi i
(Guizona abyssinica) seeds.

2. Nigeris cultivated as a Khanf crop. +&2—

Some tribal people in India use
niger seed oil for cooking.

How many of the above statements are

How many of the above are included correct?
in capital markets? fa) Only one
e — &

fa) Only one b) Only two v—

—fb) Only two
{c) Only three fc) Al three
(d} All four fd) None .}\_ .
XDTG-F-GST/62C 3s
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78. F=faian wiwsfwa & i = fF=n e

1. %78 9EEE

2. w&-gH
3. @iz
4. TES F) TE-EE
T A | fFas o fam @ e 7
fa) F=ACF
b) FTEAA
(c) F=a#R
(d) ®h =

79. F=fataa w fasn Fifay
1. HiEEm s
2. =9 €n witEfaHh
3. WA gun
4. fErwEm
5. 3 UIENE W

R - ¥ fo WFea fam amEm 3
TF § 3 f5m = e deem i s
% ¥ ¥ wom Gan F w3 8 v =
(a) =42

(b) F=a dA

fc) Faa =W

(d) =

g80. fi=fafaa snufs wr=a &9 @ fa=m
#ifa
1. fawmd smam
2. ﬂmgﬂmn(mtﬁtm)
3. @R TEEE
4. YEFEATEETE w5
T A A FA W ge wHe e e wHe
wTTTE Jraa) ¥ Fam § unea fTan gea
| BRAEE IRAZH [ EeET 12 AR
(s3i) | =91 faamh & feom @R #fza %2 b7
o
(b) FAAD
(¢) #aa #3
fd) wh =m
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81. Fafafaa wud w faam $ifvw
FYA-1 :

WiE, 7 T qiian i (feaifr) €n &
Tz, W sfuw fagg ImrEA F
Fraa 7kt T &)

FGE-I10

foqq s & fom ww-8-79 60% T
5T (wf=s) Pfam = g s )
IHE waE F A 3, fefafae 4 @ ¥R
T FE R

(a) F@-1 W -1 3 whH § oaw
FA-11, F93-1 9 w6 =ren ¢

(b) FHA-1 3R FWE-1 2E wh E Aw
FYR-11, F43-1 1 T =Em TE B

(c) FuA-1 WA} fr Fm-11 e }
(d) FdA-17em g FE-n v

82. F=fafaa wad w fer $ifag .

FE-] :
fraur-w () Wt w9 8
EE RG]

w411
fuAi-wdt FEa qehfem wdm
TA-TE 6 g g
Igw w44 & M #, Freafafaa § @ #R-w
= w27

fa) FaA-1 M FE-1 I whH oA
FaA-11, F-1 6 9 = b

(b) FaA-1 @ F@-11 I whH §oad
FA-11, F4-1 9w =me 76 R

fc) Fa3-1 A ? frm Fua-11 vem b
(d) Fa-1 T ¥ fr w1 wh b

F

|
|
|
|

32"

78. Consider the investments in the following

asscts ;
1. Brand recognition
+2. Inventory

Intellectual property
4. Mailing list of clients

How many of the above are considered
intangible investments?

-75) Only one

AY Only two
{c) Only three
{d) All four

79. Consider the following :

‘/L." Demographic performance

/2'. Forest and ecology
3. Governance reforms
4. Stable government

\/B. Tax and fiscal efforts
For the horizontal tax devolution, the
Fifteenth Finance Commission used
how many of the above as critenia

other than population area and income
distance?

fa) Only two
+b) Only three
{c) Only four
{d) All five
BO. Consider the following infrastructure
sectors :
1. Affordable housing
2. Mass rapid transport
3. Health care
4. Renewable energy
On how many of the above does

UNOPS ,Sustainable |nvestments  in
and Innovation (S3i)

initiative focus for its investments?
fa) Only one
{b) Only two
fc) Only three
Ad) Al four
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81. Consider the following statements :

Statement-| :
India, despite having uranium
deposits, depends on coal for most of
its electricity production.
Statement-II :
Uranium, enriched to the extent of

at least 60%, is required for the
production of electricity.

Which one of the following is correct in
respect of the above statements?

{a) Both Statement-l and Statement-Il
are correct and Statement-Il is the
correct explanation for Statement-1

Both Statement-l and Statement-11 #
are correct and Statement-Il is
not the correct explanauon for
Statement-1

)

fc) Statement-l is correct but
Statement-Il is incorrect
(d) Statement-lI is incorrect but
Statement-II is correct
82. Consider the following statements : .;‘:‘
Statement-] : .
Marsupials are not naturally found in e
India, = E
Statement-II :

Marsupials can thnve only in montane

grasslands with no predators™
Which one of the following is correct
in respect of the above statements?

fa)

Both Statement-l and Statement-Il
are correct and Statement-Il is the
correct explanation for Statement-1

Both Statement-l and Statement-Il
are correct and Statement-ll is

®)

not the correct explanaton for
Statement-1

~T) Statement-l is correct but
Statement-1l 1s incorrect

{d) Statement-1 is  incorrect but

Statement-Il is correct

| P.T.O.
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. WERE (i) de-ah (winfa) e 86, Fafafun wadl w fwm dif ;

86. Consider the following statements :

' (R AN wEwe dR-al todw

1. ¥0 oA (s A ohmdia o gy

@ ‘Invasive Species Specialist Group' (that
develops  Global  Invasive  Species

favivn v @) Fosfafua @ @ fva @ w1 :l.)ﬁll‘ll‘:\\'illg o:;lzliﬁ:izzshich one of the 8 e tr_nushroomn have medicinal |~
R wafe &2 2. F0 oT A M (arERfRa) ' WRps
: : ? M|y ™ Jal The  International  Union  for 2. Some mushrooms have psycho- 4/~
(a Mmﬁw‘ ‘Tﬁ' wam i':: (m Conservation of Nature |\ active properties.
Gt AT W% Hzamh
; : ) : 3 P kit mh (b) The ‘United Nations Envi&onmenl 3. Some mushrooms have insecticidal |/
@) ¥IF W WEE wEER (FRE W 4. T w4 Y wdifnle Frogramme s ‘ propertics.
ﬂm‘ =0 ]
) (Rriegfifdz) o R fc) The United Nations World i W h Save lokis) \/
T 1 WEm W Ry v Rw Commission for Environment and i e musniooms ve aiumi-
(<) “gq“': ?maq:—i - Development nescent properties.
¥ qalﬁ‘ T ﬂ tic]
A 5w A | v v @ ¥
e {3 ) | {d) The World Wide Fund for Nature How many of the above statements are
(@) ¥ ¥ foxg fassrd i (scdams w2 (a) ¥ l W F correct?
wH 3W) pegr—, 84. Consider the following fauna : P
1. Lion-tailed Macaque .
s4. F=iafon wivem w faam i (0 ¥F=adR (b) Only two
1. for-g=i 5w J— 2. Malabar Civet {c) Only three
2. :mm fasz 3. Sambar Deer Jﬂ All four
3. ww fem | ; ; ‘
, 7. wdw Preehdl ¥ R #, Fefaien wE W ow.many of the above arc generally,
T § ¥ e swdn w ofiw @ @ wmiE fram i ; nocturnal or most active after sunset? 87. Consider the following statements
T sy ' V‘:)_ oy - regarding the Indian squirrels :
1. 3 v A fa@ T e Ay = fwiw nly one N
s 1. They build nests by making .~
fa) F5ETE w0 & (b) Only two burrows in the ground.
®) 32 2. 3 W R e, ¥ fE el (W)
: ’ (c) All three 2. They store their food materials like
fe) =R s =i #1 qfa & i s FE §) | i # nutﬁtd seeds in the gnmndL_'* r’/
. one
(d) w0 @ 3. 3w e & | 3. They are omnivorous. \_—
Which of the followi i i
8s. Hefaian § 4 W-w I 3@ W R el 14 h o wh 1 ‘ ol dench R cihers of felr Kin How many of the above statements are
srEmssa R fmsdnitReEa s to indicate the direction, and the correct?
s 7= (7 Tiw) == 2 - distance to a source of their food? |
' : (@) L&
(a) faeh {a) Butterflies (a) Only one
) = s () i ot (b) Dragonflies CJ Only two &~
() WD () whdm SO Honeybc:s)g\ St ) All three |/
‘M .
(@ =t (d) i h 7 (d) Wasps (d) None
XDTG-F-GST/62C as XDTG-P-GST/62C » [ PT.0.



88, Fr=fafaa wuf w fasm fifey

1. 0 §wdE 9@ ¥ WS R OIW F
ATRR 9T T § 999 F%4 B

2. 70 §ER owa % frmw A AR
AYER T FTAET | T wEa R

3. F9 YA 3 A FW pH T He@
seeltg amaTan B we wEA R

I 4 A 5 w3 w0 87

(a) ¥=a T

b)) F=AQ

fc) wfidm

(d) =§ s 7d

89, Fefafm d 4 ¥, ligu o asdi s w2 3

NfmiadAge s fmesd =
#ram w7 2

(o) A wER (f5fim &2)
(b) TR
o) =faom=
(d) w=a fam

90. fr=fafaa w famm 6ife

Lazic

W a2

wew (Ffadz)

gE | @ faad @ e A e
wgE wa b

fa) %A%

() ¥FaR

(c) FTaAER

(d) ®w=m

o
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91. fr=fafun sl w faam Aifa
1. wem 3, gen @e A fa Ry
2. Fem T @0 TEE W W v wh
3. w7 % fawi @ wa v i

Y ]
TF § R fam wwm wh ¥
fa) ¥=aTF
®) F=Ad
(c) ®¥i 3
(d) *x§ 7
92. F=faftaa g v fmm Hifig .
A (4ré) foa = 4 gfaeam i
1. UM 9 : WA A OF A
w9 § Teliga w=d
TEEN WA I
2. HaW : v 3 fft =nfam
TN AR T T
3. Towmaeem 9 wma § s
T A TH
(¥R )
I 4 A fFe gm wd gafom #7
fa) Fad & IH
(b) ¥ AW
(c) ®dA IR
fd) F1 0 = 7

93, Frfefaa 95 w faam Hifw
1. WA (HetHrdn greed)
2. WR (Ryw §fEw)
3. WA (3w AfRW)
9% § A fra ooierh a0 &7
fa) ¥59TF

(b) FEAR |

(e) ®f "
(@) #=r{hi A

88. Consider the following statements :

1. Some microorganisms can grow
/ in environments with temperature
above the boiling point of water.

2. Some microorganisms can grow
in environments with temperature
below the freezing point of water.

3. Some microorganisms can grow
/in highly acidic environment with
a pH below 3.

How many of the above statements are
correct?

fa) ‘Only one
{b) Only two
) All three

89. Which one of the following makes a tool
with a stick to scrape insects from
a hole in a tree or a log of wood?

(a) Fishing cat
% Orangutan
{c) Otter
‘Jn‘) Sloth bear

Mot S E
90. Consider the following :
1. Aerosols
2. Foam agents
3. ire retardants
4. Lubricants \—

In the making of how many of the above
are hydrofluorocarbons used?

{a) Only one

(b) Only two

{c) Only three "
(d) Al four

XDTG-F-GST/62C
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91. Consider the following statements :

1. Jhelum River passes through &~

. Wular Lake.

2. Krishna River directly feeds Kolleru L™
Lake. .

3. Meandering of Gandak River ?
formed Kanwar Lake.

[}

How many of the statements given
above are correct?

fa) Only one
(b) Only twov"
fc) All three
(d) None
92. Consider the following pairs :

Port
1. Kamarajar Port

Well known as

: First major port in India

. “
registered as a company

: Largest privately owned X
* port in India ‘

2. Mundra Port
e

Bt btellr s
3. Visakhapatnam : Largest container portin | — -
Port India

How many of the above pairs are
correctly matched?

fa) Only one pair

{b) Only two pairs L
fc) All three pairs

(d) None of the pairs

93. Consider the following trees :
1. Jackfruit (Artocarpus heterophylius)
2. Mahua (Madhuca indica)
3. Teak (Tectona grandis)

How many of the above are deciduous

trees?

(a)

(v)
odet

(d)

Only one
Only,two
All three
None

| P.T.O.
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